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101|R#A7 L 627 220 407 Kg |EE 1,404 324|F )1l 2,484 540
102|357 L 2,085 2,085 Kg BIE 1,566 555
111|&EEF £ 334 132 202| Kg |EIE 864 648|F1E 1,782 756
113|RAV S 7 1 6| Keg |@E& 1,404 = 2,484 1,620
114|B5EFE 180 7 173| Kg |ER& 1,620 e 2,970 1,560
15[ 1= Kg 35 3,240
117[1E 14 14| Kg FfE 3,780 3,024
121|rblE &€ 75 59 16| Kg |E& 1,297 A70| EfE 1,728 1,080
134[#= = 278 200 78| Kg |EE- = 4,000 1,405|185 3,780 2,700
137|&5ES. < 128 4 124 Kg |k%» 3,564 K5 4,536 3,564
138|Hm % 2 104 104| Kg FE 972 918
140(5 I 28 28| Kg b 43,200 21,600
147|EZ O 73 73| Kg 8 11,880 6,000
168|BIEM AL H 280 280| Kg =40 3,208 1,944
201|{Lb L 708 708| Kg B8 - Al 486 162
203|/Né L 123 123| Kg 3= 432 324
206| = 1F 690 690| Kg KI5 605 346
207| & A% 20 20| Kg imE 95
208| Mo % 558 558| Kg =40 1,404 594
210{1F AL 44 44| Kg R 4,590 1,431
212|&5E.3 Y 561 561| Kg Ko - BiE 2,592 1,188
251|< £ <3 181 181 Ke |=# 4,536 2,873
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252|LWAEXECA 7 7l Kg 2Pl 5,292

254|EDT2ELCAH 681 681 Kg =y 2,700 1,026
303[A 27z 354 354 Kg A - R 500 405
306|L e k) 9 9] Kg iR 1,512 1,188
315|7: B9 6 10 10| Kg = I 3,240

319|h o 492 492 Kg =) 2,376 405
332|113 WA =EF 205 205 Kg 2P 2,160 1,782
3bl{HHV 80 5 75| Kg [3&E 3,240 w5 9,180 3,132
35411FxE<Y 88 88 Kg [ 2,808 1,134
355(mp Y 125 15 110 Kg [|dbBE 1,404 e - P E 1,404 600
356(L L& 55 55| Kg SER 1,512 864
357|7RE 8 8] Kg FEE 2,160 1,620
362(m & 260 260| Kg FE 3,240 612
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507|@— L Ly 18 18| Kg hE 702
512| A A L 90 90| Kg b 1,500 346
523|AEAAT 2 O 459 459|  Kg Bh 4,050 270
54| AEE E XV 32 32| Kg =] 1,620 1,560
554\ XX BIA AR 110 110| Kg b 1,200 1,050
558|# 30 30| Kg b 1,296 842
560|472 290 290| Kg deE - fs 3,672 1,400
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70110 BA 108 108 Kg IN=I=d 4,698 1,890
71019 2 ®HA0F 30 301 Kg IR 1,620
713|L L» HHF 7 7l Kg bF 1,152
755|F®H L 21 21 Kg E=AES 803 728
56| £ 9 28 281 Kg Ko 1,080
7611 b BHAEL 18 18 Kg AL 2,520
76713725 W\ H 240 240 Kg =1L 2,850 1,980
B01[IBAL = 1S 379 379 Kg ¥ -mA 1,728 540
802|1 x| 30 301 Kg mE 1,404
8051 1E 344 3441  Kg JbiF 1,080 691
810|FAKF 417 4171 Kg bF 2,916 1,728
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